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Guess Paper – 2007

Mathematics

Class - X

1. Solve the following system of equations :
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2. Simplify : 
[image: image3.wmf]1

x

4

1

x

2

1

x

1

1

x

1

4

2

+

-

+

-

+

-

-


3. If PAQ is a tangent at A to the circumcircle of 
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 such that PAQ || BC. Prove that ABC is an isosceles triangle.

4. A pressure cooker is sold for Rs.500 cash or for Rs.250 cash down payment followed by Rs.260 after three months. Find the  rate of interest charged under this scheme. 

5. A man borrows money from a finance company and has to pay it back in two equal half yearly installment of Rs.4,945 each. If the interest is charged by the finance company at the rate of 15% per annum compounded semi-annually. Find the principal and the total interest paid. 

6. For what values of k is the H.C.F. of 
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7. Using quadratic formula, solve the following equation for x : 
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OT

There are three consecutive positive integers such that the sum of the square of the first and the product of the other two is 154. What are the integers ?

8. Derive the formula for sum of the first n terms of an A.P. whose first term is 'a'  and the common difference is 'd'.

OR


Determine the A.P. whose third term is 16 and the difference of 5th term from 7th term is 12.

9. Find the sum of the first 20 terms of an A.P. in which 3rd term is 7 and 7th term is two more than thrice of its 3rd term. 

10. ABC is triangle in which AB = AC and D is a point on the side AC such that 
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OR


In ABC, 
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11. Solve for 
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12. Draw the graphs of the equations 
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. Determine the vertices of the triangle formed by the lines representing these equations and the X-axis. Shade the triangular region so formed. 

13. Construct a triangle ABC in which AB = 5cm angle  C = 300 and median CD = 4cm.

14. A cone of height 24 cm has a curved surface area 550 cm2. Find its volume. (Take =22/7). 

OR


If the radii of the circular ends of a conical bucket which is 45cm high are 28cm and 7cm . Find the capacity of the bucket. (Take =22/7)

15. Prove that 
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OR


If 
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16. In what ratio is the join of A(4,3) and B(2,-6) divided by x-axis. ALso, find the coordinates of the point of intersection. 

17. Find the point on the Y-axis which is equidistant from (-5,-2) and (3,2).

OR


Find the coordinate of the centroid of a triangle whose vertices are 
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18. Following table gives the distribution of total house hold expenditure (in rupees) of manual workers in a city.

	Exp.
	100-150
	150-200
	200-250
	250-300
	300-350
	350-400
	400-450
	450-500
	Total

	Freq.
	24
	40
	33
	28
	30
	22
	16
	7
	200



Find the average expenditure (in rupees) per household. 

19. Three coin are tossed simultaneously 

(i) Write sample space of the experiment. 

(ii) Find the probability of exactly 2 heads.

(iii) Find the probability of all heads.

20. The pie chart (as shown in figure) represent the number of students opting different subjects in a school. If total number of student in school is 180, find the number of  students opting on each subject. 

21. Prove that the ratio of the areas of two similar triangles are equal to the ratio of the squares of their corresponding sides. 

Using above theorem, find  area (DEF) : area (CFB) from following figure if DE||BC and AD : DB = 5:4.

22. If PAB is a secant to a circle intersection it at A and B, and PT is a tangent, then 
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Using above theorem find the value of PT from the following figure is 
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23. The angle of elevation of a cloud from a point 200 metres above a lake is 300 and the angle of depression of its reflection in the lake is 600. Find the height of the cloud. 

OR


From the top of a light house, the angle of depression of two ships on the opposite sides of it are observed to beand . If the height of the light house be h metres and line joining the ships passes through the foot of the light house, show that the distance between the ship is 
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 metres. 

24. A cylindrical water tank of diameter 1.4m and height 2.1m is being fed by a pipe of diameter 3.5 cm through which water flows at a rate of 2 m/s. Calculate the time (in minutes) it takes to fill the tank. (Use =22/7).

OR


The radius of the internal and external surface of a hollow spherical shell are 3cm and 5cm respectively. If it melted and recast into a solid cylinder of height 
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 cm, find the diameter of the cylinder.

25. Jagdish Lal, aged 66, is a retired bank executive drawing a pension of Rs.15,000 per month. His contribution towards PPF is Rs.2,500 per quarter. In addition, he buys NSCs worth Rs.10,000 in the year. What will be his income tax liability for the year ?
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